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MATHEMATICS.
Monday, June 23rd.—10 to 1 p.m

INSTRUOTIONS.

(a) Not more than eight questions to be attempted

b) The marks allotted to each ,
m(;,c)kets under. question are shown in
(c) Mathematical Tables are supplied.

(d) Special credit will be given to candid .
peatness and order in answering. ndidates who display

() All working must be shown in the answer book.

3 128 —24%
24+

g 11 2 n . ;
(b) Express 7 13’ 3% and 3 in decimal forms, each

correct to two places.

1. (@) Simplify

[10 marks.]

9. An E.S.B. customer’s electricity consumption is a8
follows :—
360 units for lighting at 1-3 pence Pper unit. |
360 units for water heating at a penny Per unit. ll

651 units for water he
(@) Make out the account for the above.
(b) What is the average price Pet umit paid by the customer
to the nearest 45 of @ penny? 10 k]

g (e G el.mDJl]. G{l-l _\Dl \ CS ].t S ) 0
~ ' e ;O.ﬂ '; ]I]-S. .

(1 litre=1-76 pints.
; [p.2.0.
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4. A hut with a rectangular floor is ZQ ft. [()%1&',‘ and [2 fi
wide. The roof is in the shape of half a c_v[md(_%r, with
diameter the same as the width and running t.l}c {ull lengt),
of the hut. If the vertical side-walls are 10 ft. high, calculate

the area of sheeting required for the walls and roof.
[T0 marks.]

5. Tn his estimates a contractor calculates labour costs at,
759, of the cost of materials. His profit is taken as 409
of the net cost of the job.

(@) What is his estimate for a job, the cost of materials
for which are £780 ?

(b) If £E and £M represent the amount of the estimate
and the cost of materials respectively, make out a formula

connecting these symbols and express 1t in a simplified form.,
[10 marks.]

6. (@) Write down the logarithm of 63-21 and the number
whose logarithm is 0-7C10.

7364 < 2813
(6) Use logarithms to evaluate _?;'7\_-5—)'

(¢) Tf log 3=0-4771 find the logs of 9 and V3.
[10 marks.]

1 1 1 Vv '
Tee B = R, -+ R, and T R are formulae which occur in
electricity.

(i) Find the value of R from the first formula when
R,=3-15 and R,=6'3.
(ii) Use this value of R to calculate A from the second

formula when V==2].
[12 marks].
8 Solve the equations :

(@) 5(z-+4)—6(2 —z)==30.

®) 3x—7HO - 23:;—3:]_

(¢) 225 (x+4-5)—0-25(2x4-1-5)=15.
[12 marks.]

9. Find two values of 2 which satisfy the equation :

1022="7(x+21).
) [14 marks.]
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jculars erected at the mid-points of the sides

lic
erpen o - b
j0. PO ge ABC meed Bl 0. Prove that OA -0B -0C
angl€ “ 7 er and  compass onlv. lfemscrihe /;

a4 v a1y

Of C llﬁl] 4 “ '
A vhere f N LA 4 : "
ABC wher AB=34", BC--2-8" and AC=4"

its (diameter.
(14 marks.]

Al
36 o
1 (@) [f tan A- 12 caleulate as fractions cos A and sin A
() Dae youk tables to write down tan 7° 12" and the
angle whose tangent is 1:1960.

ann aeroplane flying directly over Dublin
- Airport at an altitude of 20,000 ft., it is observed
that the angle of depression made by a County
Louthriver mouth is 7°12°. Calculate ihe distance
of the river mouth from Dublin to the nearest

mile.
(14 marks.]

(c) From

12. Experiments carried out on @ coil gave the following
ctrical resistance (R) in ohms and the corres-

calues for its elec |
ature (T) m ngreeg celltlg]‘{hde'

ponding temper

L - 20 60 100 i40 180
. | — e e B
B .- l 11-35 12-45 ' 13-54 14-65 1575

lation between R and T, using

Plot a graph showing the re
gs large a scale as the paper permits.

From the graphb find :

(i) for what value of R
f the coil when its r€

the graph cuts the axis of R,

(i) the temperature © sistance 18

14 obms, .
and b for which the equation

(iii) the values of @ .
R=aT+b represents the relation between

B = [14 marks.]
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